B (T) FRMEREXSKR - #HHFAOFER

SHMSF1AIBEAE = F
XA E2 = &t T X2 8 8 B HE
m1TH 451 491 942 498||KFIEE 14 13 21 10
F2TH 230 258 438 230 KFH 5 8 6 14 9
m3TH 519 502 1,021 499(|K=Fia it 91 93 184 18
F4TH 623 614 1,237 602 KFF 5 284 290 574 266
m5TH 1,125 1,134 2,259 1,094|F851TH 19 19 38 15
i1TH 920 936 1,856 888|IF 52 TH 21 19 46 21
+2TH 330 319 649 283|KFEF 98 107 205 89
i3TH 338 330 668 310|[FEH1TH 30 21 57 22
m1TH 352 341 693 3B KFRHE 209 210 419 155
m2TH 848 867 1,715 844X E1TH 25 16 a4 21
m3TH 174 763 1,537 156 KFFEE 115 100 215 82
RFEF 1,209 1,056 2,265 1,031 EEE1TH 16 13 149 55
®1TH 812 174 1,586 1981 FZEE 2 TH 154 167 321 156
®2TH 774 863 1,637 T16|(KF 98 107 205 89
®3TH 124 697 1,421 655\ K F T % 13 81 154 83
®4TH 361 364 125 342 KFH B 95 90 185 17
®5TH 524 521 1,045 495 KF K fH 89 18 167 68
#Be1TH 1,028 1,084 2,112 1,005)%% 1 & 202 172 374 289
#e2TH 267 287 554 2485k 2 & 315 351 666 375
B1TH 282 304 586 294|%% 3 & 255 232 487 295
m2TH 346 333 679 3185k 4 & 600 521 1,127 800
RFREFFE 208 208 416 1773 5 & 250 255 505 351
K1 255 266 521 2155k 6 & 184 175 359 202
KRF T 949 961 1,910 669(%k 7 & 116 129 245 18
RFFIE 1,109 1,0M 2,180 870|FHm@ 1 TH 364 381 145 336
RFHBEN 483 485 968 350(FHM 2 TH 529 546 1,075 499
RFENA 212 209 421 195(|FHMA3TH 214 207 AN 194
ARFERE 123 121 244 16|FEMA4TH 218 213 551 240
RFHEFFE 164 165 329 142
RFLEH 1,17 1,146 2,317 975
5% 1TH 460 486 946 396
ARFHERE 221 194 415 198
RFESH 280 251 531 230
RFMHEAR 305 274 579 253
RFARIL 189 168 357 152
RFRFHH 577 528 1,105 475
KRFHE 17 19 36 14
RFTFHHA 117 95 212 92
RFEFFH 86 19 165 69
RFTEH 182 210 392 196

RFAEEE 67 62 129 57 B 24,824 24,580 49,404| 23,087




